
14 = 1

24 = (1 + 1)4 = 14 + 4 · 13 + 6 · 12 + 4 · 1 + 1

34 = (2 + 1)4 = 24 + 4 · 23 + 6 · 22 + 4 · 2 + 1

44 = (3 + 1)4 = 34 + 4 · 43 + 6 · 32 + 4 · 3 + 1

. . .

. . .

(n+ 1)4 = n
4 + 4 · n3 + 6 · n2 + 4 · n+ 1.

Adjuk össze az egymás alatt álló tagokat s vonjuk ki mindkét oldalból

14 + 24 + 34 + . . .+ n
4

összeget, úgy

(n+ 1)4 = 4(13 + 23 + 33 + . . .+ n
3) + 6(12 + 22 + 32 + . . .+ n

2)+

+4(1 + 2 + 3 + . . .+ n) + n+ 1,

mib®l

4(13 + 23 + 33 + . . .+ n
3) = n

4 + 4n3 + 6n2 + 4n+ 1− 6
2n3 + 3n2 + n

6
− 4

n(n+ 1)

2
− n− 1

vagy

4(13 + 23 + 33 + . . .+ n
3) = n

4 + 2n3 + n
2 = n

2(n+ 1)2

s így

13 + 23 + 33 + . . .+ n
3) =

n
2

4
(n+ 1)2 =

[

n

2
(n+ 1)

]2

= (1 + 2 + 3 + . . .+ n)2.

(Pollák Simon, Nyitra.)
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